

Ada County Highway District

Procurement

Mike Fagerness, Procurement and Contracting Administrator 3775 Adams St., Garden City, ID 83714

EVALUATION TABULATION

PWB No. CT225-04

2025 Meridian Downtown Pavement and Pedestrian Improvements

RESPONSE DEADLINE: November 20, 2024 at 3:00 pm Report Generated: Thursday, November 21, 2024

SELECTED VENDOR TOTALS

Vendor	Total
Dasco of Idaho, a whitaker company	\$7,854,563.00
Sunroc Corporation	\$8,100,000.00
LaRiviere, Inc.	\$8,968,944.50
ESTIMATE	\$9,238,058.00
idaho site works, llc	\$9,460,217.37
Mountain Companies LLC	\$9,708,692.90
Staker & Parson Companies DBA Idaho Materials & Construction	\$9,896,076.00

SCHEDULE 2, MERIDIAN DOWNTOWN PAVEMENT AND PEDESTIRAN IMPROVEMENTS (2025), CITY OF MERIDIAN WATER, 520023-COM-W (Table 1 of 2)

	le 2, Meridian Do ments (2025), Ci					of Idaho, a er company	EST	TIMATE	idaho si	te works, Ilc	LaRiv	iere, Inc.	Mountain	Companies LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	0303.4.1.B.1.	EXPLORATORY EXCAVATION (POTHOLE) – PACKAGES 1 & 2	35	EA	\$418.00	\$14,630.00	\$500.00	\$17,500.00	\$641.40	\$22,449.00	\$566.00	\$19,810.00	\$450.00	\$15,750.00
X	0303.4.1.B.1.	EXPLORATORY EXCAVATION (POTHOLE) – PACKAGE 3	2	EA	\$398.00	\$796.00	\$800.00	\$1,600.00	\$641.40	\$1,282.80	\$566.00	\$1,132.00	\$450.00	\$900.00
X	0307.4.1.E.1.	TYPE C SURFACE RESTORATION	27	SY	\$24.00	\$648.00	\$100.00	\$2,700.00	\$33.20	\$896.40	\$64.00	\$1,728.00	\$44.80	\$1,209.60
Х	0307.4.1.G.1.	TYPE P SURFACE RESTORATION	668	SY	\$89.00	\$59,452.00	\$60.00	\$40,080.00	\$84.85	\$56,679.80	\$56.00	\$37,408.00	\$51.40	\$34,335.20
X	0310.4.1.A.1.	16"Ø, 3/8" THICK STEEL CASING	92	LF	\$123.00	\$11,316.00	\$420.00	\$38,640.00	\$168.25	\$15,479.00	\$340.00	\$31,280.00	\$410.00	\$37,720.00
X	0401.4.1.A.1.a.	4" PVC, AWWA C900, DR18, WATER MAIN	7	LF	\$198.00	\$1,386.00	\$100.00	\$700.00	\$385.00	\$2,695.00	\$142.00	\$994.00	\$405.00	\$2,835.00
X	0401.4.1.A.1.b.	6" PVC, AWWA C900, DR18, WATER MAIN	224	LF	\$62.00	\$13,888.00	\$100.00	\$22,400.00	\$168.00	\$37,632.00	\$70.00	\$15,680.00	\$152.00	\$34,048.00

EVALUATION TABULATION

Invitation To Bid - 2025 Meridian Downtown Pavement and Pedestrian Improvements

Page 22

	le 2, Meridian Do ments (2025), Cit				Dasco of Idaho, a whitaker company		ESTIMATE		idaho si	te works, llc	LaRiviere, Inc.		Mountain Companies LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	0401.4.1.A.1.c.	8" PVC, AWWA C900, DR18, WATER MAIN	2757	LF	\$62.00	\$170,934.00	\$90.00	\$248,130.00	\$140.00	\$385,980.00	\$80.00	\$220,560.00	\$132.00	\$363,924.00
Х	0401.4.1.A.1.d.	12" PVC, AWWA C900, DR18, WATER MAIN	399	LF	\$125.00	\$49,875.00	\$150.00	\$59,850.00	\$250.00	\$99,750.00	\$127.00	\$50,673.00	\$173.00	\$69,027.00
X	0401.4.1.A.1.e.	12" (IPS) HDPE, AWWA C906, PE4710, DR9 WATER MAIN	123	LF	\$277.00	\$34,071.00	\$220.00	\$27,060.00	\$250.00	\$30,750.00	\$136.00	\$16,728.00	\$256.00	\$31,488.00
X	0401.4.1.C.1.	LOCATE STATION PER MERIDIAN SD- G5	3	EA	\$303.00	\$909.00	\$1,000.00	\$3,000.00	\$1,206.50	\$3,619.50	\$1,699.00	\$5,097.00	\$330.00	\$990.00
Х	0402.4.1.A.1.a.	6" GATE VALVE	6	EA	\$1,488.00	\$8,928.00	\$3,000.00	\$18,000.00	\$2,238.20	\$13,429.20	\$2,039.00	\$12,234.00	\$1,740.00	\$10,440.00
Х	0402.4.1.A.1.b.	8" GATE VALVE	23	EA	\$2,600.00	\$59,800.00	\$3,600.00	\$82,800.00	\$3,021.05	\$69,484.15	\$2,606.00	\$59,938.00	\$2,500.00	\$57,500.00
Х	0402.4.1.A.1.c.	12" GATE VALVE	6	EA	\$4,732.00	\$28,392.00	\$4,400.00	\$26,400.00	\$4,549.65	\$27,297.90	\$4,532.00	\$27,192.00	\$4,830.00	\$28,980.00
X	0403.4.1.A.1.a.	FIRE HYDRANT ASSEMBLY WITH LOCATE STATION	9	EA	\$7,300.00	\$65,700.00	\$6,000.00	\$54,000.00	\$9,000.00	\$81,000.00	\$6,797.00	\$61,173.00	\$9,100.00	\$81,900.00

			ent and Pedestiran /ater, 520023-COM-			of Idaho, a er company	EST	TMATE	idaho si	te works, Ilc	LaRiviere, Inc.		Mountain Companies LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	0403.4.1.A.1.b.	RELOCATE EXISTING FIRE HYDRANT ASSEMBLY	7	EA	\$1,298.00	\$9,086.00	\$3,000.00	\$21,000.00	\$3,200.80	\$22,405.60	\$3,965.00	\$27,755.00	\$4,060.00	\$28,420.00
X	0404.4.1.A.1.a.	RELOCATE EXISTING WATER METER	30	EA	\$194.00	\$5,820.00	\$1,800.00	\$54,000.00	\$1,323.70	\$39,711.00	\$963.00	\$28,890.00	\$1,910.00	\$57,300.00
Х	0404.4.1.A.1.b.	3/4" SINGLE WATER SERVICE CONNECTION	43	EA	\$1,850.00	\$79,550.00	\$3,200.00	\$137,600.00	\$3,000.00	\$129,000.00	\$2,039.00	\$87,677.00	\$2,870.00	\$123,410.00
X	0404.4.1.A.1.c.	WATER SERVICE LINE (METER TO BUILDING) - CONTINGENCY	704	LF	\$106.00	\$74,624.00	\$100.00	\$70,400.00	\$52.40	\$36,889.60	\$39.00	\$27,456.00	\$47.00	\$33,088.00
Х	0706.4.1.G.1.	CONCRETE REPAIR	89	SY	\$48.00	\$4,272.00	\$200.00	\$17,800.00	\$205.70	\$18,307.30	\$88.00	\$7,832.00	\$61.90	\$5,509.10
X	2030.4.1.A.1.	ADJUST EXISTING SEWER MANHOLE TO GRADE	59	EA	\$855.00	\$50,445.00	\$1,600.00	\$94,400.00	\$670.00	\$39,530.00	\$963.00	\$56,817.00	\$1,500.00	\$88,500.00
X	2030.4.1.C.1.	ADJUST EXISTING VALVE BOX TO GRADE	1	EA	\$523.00	\$523.00	\$1,400.00	\$1,400.00	\$720.55	\$720.55	\$283.00	\$283.00	\$740.00	\$740.00

	e 2, Meridian Do ments (2025), Ci					of Idaho, a r company	EST	IMATE	idaho si	te works, llc	LaRivi	ere, Inc.	Mountain (Companies LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	SP-M04007.a.	REMOVE EXISTING VALVE BOX ON ABANDONED GATE VALVE	2	EA	\$427.00	\$854.00	\$1,400.00	\$2,800.00	\$139.90	\$279.80	\$227.00	\$454.00	\$210.00	\$420.00
X	SP-M04007.b.	REMOVE EXISTING VALVE AND PIPE BACK TO TEE	1	EA	\$3,001.00	\$3,001.00	\$2,000.00	\$2,000.00	\$1,334.05	\$1,334.05	\$1,699.00	\$1,699.00	\$2,300.00	\$2,300.00
Х	SP-M04007.c.	REMOVE EXISTING ABANDONED WATER MAIN PIPE AS NEEDED TO INSTALL NEW STORM DRAIN OR IRRIGATION PIPE	12	EA	\$352.00	\$4,224.00	\$2,000.00	\$24,000.00	\$420.45	\$5,045.40	\$1,133.00	\$13,596.00	\$2,600.00	\$31,200.00
Х	SP-M04007.d.	REMOVE EXISTING FIRE HYDRANT	6	EA	\$596.00	\$3,576.00	\$1,800.00	\$10,800.00	\$233.40	\$1,400.40	\$566.00	\$3,396.00	\$1,460.00	\$8,760.00
X	SP-M04007.e.	ABANDON EXISTING WATER SERVICE	43	EA	\$1,698.00	\$73,014.00	\$1,000.00	\$43,000.00	\$493.35	\$21,214.05	\$227.00	\$9,761.00	\$981.00	\$42,183.00

		owntown Pavemo ty of Meridian W W			Dasco of Idaho, a whitaker company		ES	TIMATE	idaho s	ite works, llc	LaRiviere, Inc.		Mountain Companies LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	SP-M04007.f.	ABANDON EXISTING WATER MAIN	19	EA	\$246.00	\$4,674.00	\$2,000.00	\$38,000.00	\$1,290.00	\$24,510.00	\$1,699.00	\$32,281.00	\$1,310.00	\$24,890.00
X	SP-M04015.a.	ADJUST EXISTING WATER MAIN AT NEW PIPE CROSSING	26	EA	\$6,344.00	\$164,944.00	\$5,000.00	\$130,000.00	\$7,122.30	\$185,179.80	\$963.00	\$25,038.00	\$2,300.00	\$59,800.00
Х	SP-M04015.b.	ADJUST EXISTING WATER SERVICE LINE AT NEW PIPE CROSSING	10	EA	\$89.00	\$890.00	\$2,000.00	\$20,000.00	\$1,937.80	\$19,378.00	\$566.00	\$5,660.00	\$2,100.00	\$21,000.00
X	SP-M04021	ADJUST EXISTING WATER METER TO GRADE	11	EA	\$434.00	\$4,774.00	\$900.00	\$9,900.00	\$530.00	\$5,830.00	\$227.00	\$2,497.00	\$840.00	\$9,240.00
X	SP-M04023	CONNECT EXISTING WATER LINES TO NEW WATER SERVICE	72	EA	\$538.00	\$38,736.00	\$1,000.00	\$72,000.00	\$524.60	\$37,771.20	\$736.00	\$52,992.00	\$760.00	\$54,720.00
Х	SP-29068	LAWN SOD RESTORATION	3539	SF	\$3.00	\$10,617.00	\$10.00	\$35,390.00	\$2.50	\$8,847.50	\$1.50	\$5,308.50	\$2.00	\$7,078.00
Total						\$1,054,349.00		\$1,427,350.00		\$1,445,779.00		\$951,019.50		\$1,369,604.90

SCHEDULE 2, MERIDIAN DOWNTOWN PAVEMENT AND PEDESTIRAN IMPROVEMENTS (2025), CITY OF MERIDIAN WATER, 520023-COM-W (Table 2 of 2)

Schedule	2, Meridian Dow	ntown Pavement and Pedestiran Improvements (2025), Cit 520023-COM-W	y of Merid	ian Water,	Compani	· & Parson es DBA Idaho & Construction	Sunroc Corporation	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	0303.4.1.B.1.	EXPLORATORY EXCAVATION (POTHOLE) – PACKAGES 1 & 2	35	EA	\$714.50	\$25,007.50	\$328.00	\$11,480.00
Х	0303.4.1.B.1.	EXPLORATORY EXCAVATION (POTHOLE) – PACKAGE 3	2	EA	\$714.50	\$1,429.00	\$328.00	\$656.00
Χ	0307.4.1.E.1.	TYPE C SURFACE RESTORATION	27	SY	\$40.40	\$1,090.80	\$45.00	\$1,215.00
Χ	0307.4.1.G.1.	TYPE P SURFACE RESTORATION	668	SY	\$66.10	\$44,154.80	\$29.50	\$19,706.00
Χ	0310.4.1.A.1.	16"Ø, 3/8" THICK STEEL CASING	92	LF	\$139.50	\$12,834.00	\$207.00	\$19,044.00
Χ	0401.4.1.A.1.a.	4" PVC, AWWA C900, DR18, WATER MAIN	7	LF	\$225.00	\$1,575.00	\$249.00	\$1,743.00
Χ	0401.4.1.A.1.b.	6" PVC, AWWA C900, DR18, WATER MAIN	224	LF	\$68.30	\$15,299.20	\$56.00	\$12,544.00
Χ	0401.4.1.A.1.c.	8" PVC, AWWA C900, DR18, WATER MAIN	2757	LF	\$71.40	\$196,849.80	\$57.50	\$158,527.5
Χ	0401.4.1.A.1.d.	12" PVC, AWWA C900, DR18, WATER MAIN	399	LF	\$138.50	\$55,261.50	\$110.00	\$43,890.00
Χ	0401.4.1.A.1.e.	12" (IPS) HDPE, AWWA C906, PE4710, DR9 WATER MAIN	123	LF	\$315.00	\$38,745.00	\$266.00	\$32,718.00
Х	0401.4.1.C.1.	LOCATE STATION PER MERIDIAN SD-G5	3	EA	\$324.50	\$973.50	\$1,110.00	\$3,330.00
Χ	0402.4.1.A.1.a.	6" GATE VALVE	6	EA	\$1,082.00	\$6,492.00	\$1,950.00	\$11,700.00
Х	0402.4.1.A.1.b.	8" GATE VALVE	23	EA	\$2,704.00	\$62,192.00	\$2,730.00	\$62,790.0

EVALUATION TABULATION

Invitation To Bid - 2025 Meridian Downtown Pavement and Pedestrian Improvements

Page 27

Schedule	2, Meridian Dow	ntown Pavement and Pedestiran Improvements (2025), Cit 520023-COM-W	y of Merid	ian Water,	Compani	- & Parson es DBA Idaho & Construction	Sunroc C	Corporation
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	0402.4.1.A.1.c.	12" GATE VALVE	6	EA	\$4,307.00	\$25,842.00	\$4,310.00	\$25,860.00
Х	0403.4.1.A.1.a.	FIRE HYDRANT ASSEMBLY WITH LOCATE STATION	9	EA	\$7,564.00	\$68,076.00	\$6,590.00	\$59,310.00
Х	0403.4.1.A.1.b.	RELOCATE EXISTING FIRE HYDRANT ASSEMBLY	7	EA	\$3,152.00	\$22,064.00	\$1,050.00	\$7,350.00
Х	0404.4.1.A.1.a.	RELOCATE EXISTING WATER METER	30	EA	\$1,576.00	\$47,280.00	\$513.00	\$15,390.00
Х	0404.4.1.A.1.b.	3/4" SINGLE WATER SERVICE CONNECTION	43	EA	\$3,047.00	\$131,021.00	\$1,690.00	\$72,670.00
X	0404.4.1.A.1.c.	WATER SERVICE LINE (METER TO BUILDING) - CONTINGENCY	704	LF	\$21.00	\$14,784.00	\$9.90	\$6,969.60
X	0706.4.1.G.1.	CONCRETE REPAIR	89	SY	\$157.00	\$13,973.00	\$87.50	\$7,787.50
X	2030.4.1.A.1.	ADJUST EXISTING SEWER MANHOLE TO GRADE	59	EA	\$1,681.00	\$99,179.00	\$1,430.00	\$84,370.00
Х	2030.4.1.C.1.	ADJUST EXISTING VALVE BOX TO GRADE	1	EA	\$1,576.00	\$1,576.00	\$597.00	\$597.00
X	SP-M04007.a.	REMOVE EXISTING VALVE BOX ON ABANDONED GATE VALVE	2	EA	\$1,891.00	\$3,782.00	\$83.50	\$167.00
Х	SP-M04007.b.	REMOVE EXISTING VALVE AND PIPE BACK TO TEE	1	EA	\$3,577.00	\$3,577.00	\$507.00	\$507.00
X	SP-M04007.c.	REMOVE EXISTING ABANDONED WATER MAIN PIPE AS NEEDED TO INSTALL NEW STORM DRAIN OR IRRIGATION PIPE	12	EA	\$525.50	\$6,306.00	\$1,150.00	\$13,800.00
Х	SP-M04007.d.	REMOVE EXISTING FIRE HYDRANT	6	EA	\$1,576.00	\$9,456.00	\$510.00	\$3,060.00

Invitation To Bid - 2025 Meridian Downtown Pavement and Pedestrian Improvements

Page 28

Schedule	2, Meridian Dow	ntown Pavement and Pedestiran Improvements (2025), Cit 520023-COM-W	ty of Merid	ian Water,	Compani	r & Parson es DBA Idaho & Construction	Sunroc Corporation		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
Х	SP-M04007.e.	ABANDON EXISTING WATER SERVICE	43	EA	\$1,261.00	\$54,223.00	\$425.00	\$18,275.00	
Χ	SP-M04007.f.	ABANDON EXISTING WATER MAIN	19	EA	\$1,261.00	\$23,959.00	\$1,210.00	\$22,990.00	
Χ	SP-M04015.a.	ADJUST EXISTING WATER MAIN AT NEW PIPE CROSSING	26	EA	\$2,889.00	\$75,114.00	\$5,770.00	\$150,020.00	
Х	SP-M04015.b.	ADJUST EXISTING WATER SERVICE LINE AT NEW PIPE CROSSING	10	EA	\$105.00	\$1,050.00	\$317.00	\$3,170.00	
Х	SP-M04021	ADJUST EXISTING WATER METER TO GRADE	11	EA	\$525.50	\$5,780.50	\$260.00	\$2,860.00	
Х	SP-M04023	CONNECT EXISTING WATER LINES TO NEW WATER SERVICE	72	EA	\$525.50	\$37,836.00	\$571.00	\$41,112.00	
Χ	SP-29068	LAWN SOD RESTORATION	3539	SF	\$3.40	\$12,032.60	\$2.30	\$8,139.70	
Total			'	'		\$1,118,815.20		\$923,748.30	